AFN-1040 BBO131

B.Sc. DEGREE EXAMINATION
NOVEMBER 2010

First Semester
Botany

THALLOPHYTA, BRYOPHYTA AND
PLANT PATHOLOGY

(Non -CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks
Section - A (20 x 1 =20)

Choose the correct answer

1. Which of the following is found in hot water springs?
a) Oscillatoria
b) Azolla
¢) Chlamydomonas
d) Albugo
QBB Hepmniled LNesTeurheueTTaUDMIET 6Tem6eN SHTETLILIBLD?
39 SpdeveoGLmilwim
S DHBFmeom
&) BemnenLbGLIGLDm6TTTE

M SisoL Gam



2. Which of the following algae having cap cells?
a) Volvox
b) Oedogonium
c) Diatoms
d) Caulerpa
QML 61560 sMewTlILBLD LIME LN6sTauheueTTeaUDMIET ET6m6)?
9 euMevEUTE6E
9P 2em Bamesflid
&) LwnmLLbsiv

) SMELITLIT

3. Spirulina is commonly known as
a) Pollution indicator
b) Single cell protein
c¢) Chlorophyll

d) Carotenoids
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6VEMLITHEVIEBTT EILIMGI6UTS Geueunn)] HewLP&SLILIGSDEI?
9 NG SHLIQSITLIQ

) B E1F6L LISLD
&) ugemFwID

M &CIMLI6sTTUIBSH6IT

4. The study of fungi is called
a) Phycology
b) Mycology
c¢) Embryology
d) Physiology
LhEHEOFLDD] LIQLILISNHS EYLILIT
) emuSTeLLS
S Lpehemsuiied
9) smetiwied

M) E1Fwedlwieo
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5. The reserve food of Albugo is
a) Lipids and proteins
b) Proteins only
c¢) Oil and glycogen
d) Lipids
SisoL|Bameflledr GFLALIL EIMB6IT 61517
S) 6Sll19l 60 DHMID LTSMmis6iT
SH YIsLd L LD
8) erevuTe16wT LDMHMILD BeMETEHTE1ZR65T

m 60610

6. Which of the following is fruticose lichen?
a) Rhizocarpon
b) Parmelia

¢) Usnea

d) All the above
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LetTeunHEu6TTEUDMIET 6TEWE GSMIEHEIFIQ EMEVSHE1S60T?
) ewrGaFnsmiLIesT
9p) ummbeSlwir
&) 2 sivesflum

A Ghsaniu SEnesTsSID

7. Citrus cankerisa
a) Viral disease
b) Bacterial disease
c) Fungal disease
d) None of above

dlLge CHESTET 6T6dTLIS)

3) emeugeiv Grpmul
S unsterfluied G
8) Lyepens Crbmul

M) Gnhsamil ergIa|LSe0ene0
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8. The airpores of Marchantia are made up of
a)4 - 8 cells
b) 16-40 cells
c) 40-50 cells

d) 40-80 cells

& TerSWmelen SMDHMISHENETHET 61556D6EU 61F60SH6TTED

S 60TEm6EU?
3) 4 - 8 6\Fe0&6T
9P 16-40 6\F6056iT
&) 40-50 e\F6om6T

&) 40-80 6\F6vam6T

9. The pseudoelaters of Anthoceros are
a) one celled
b) 1-3 celled
c) 3-5 celled

d) Multi celled
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SpbBFATTett BUTENETGEOLLITESEIT, 61855H6MEV E1FEOSHEITITED

O}, 60T6M6.
9 QB E\F60
9P 1-3 E\F6v&H6T
&) 3-5 a\Fevse6iT

) LI6D 6\F60&6IT

10. Polytrichum is a
a) Liver wort
b) Moss
c) Horn wort
d) None of the above
umedlemIsLd 6(H
) edleurteurie
94) b6
&) emiedT eurTL

M) Ghsamiul egaLsleoemneo
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Fill in the Blanks

11.

12.

13.

14.

15.

The study of algaeis called as ..........ccceevvverennnennns

UM&emermLl IO LIQUILADE «.vvevvereereeeeeenenennens 6T60TM)] EILIWIIT.

Oedogoniumis a ......ccceeveeeeueeeenneennns water algae.

26| BHMEVAUWID (B .-eevveverververuerernervenenes umé

............................... algaeis used as medicine.

................................ LUINS&6IT LDBHSTS LIWLETLIGSBMS).

A uredinium of puccinia can produce roughly

............................... uridinospores.

us&esflwimefledr wyfligesfiuild GHTTMUIDIS ...c.vevevvcnrceiniicnnnene,

wfipesfiGuimeroGuimiieny 2_6BorLT& @LD.

Ergot disease of rye is caused by .........cceeeeeuvveeecnnnnnn.

eoguiled smewTlIL@BL eri&m. Gmremws Cs mhmiefls LD

2 uMAUNUNETT CIIWIT ..coeeeeeeeeeeeeee,
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16.

17.

18.

19.

20.

Phycobiontisthe .......cccccceveeurnnennnne. partner of lichen.

EOLSCSHMLIUITEITL. 6TEOTLIH +.vevvererererrererrerereneenens saLLnefl SpGLD.
Usnicacidispresentin ..........cccceeeuvveveenneee. lichen.
2 61060118 HBGOID .....ovvvrcnniirrnenen, mev&:E\G:60fl60 2_6iTeng).

Causal agent of Bunchy top of Banana is

Gametophytic generation is dominant in

Marchantia are foundin ..........cccceeeeeunnnnnee. places.

LDITIT& MEOOTILIT STEOOTLILIBLD ELIRIGBEIT «.vveevvvneerrnneerrnneerennens
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Section - B (5 x8=40)

Answer any five questions.

Each answer not to exceed 400 words.
21. Briefly explain general characters of algae.

undlserfledT QILINGIILIGTITL|SHENET S (H&HSNS efleTsd.

22. Write the reproductive methods of Polysiphonia.

uneSeng Gumesfluimefled &mewTLILIBLD GEUTLIOLIHES (LPEDMSHENEIT

Lb e1epss.

23. Explain the structure and reproductive methods of the

Albugo.

SleoLBamefledt AemIbLIL HMID STLOLIHES (LPEDDEDUI

eNersS.

24. Explain mycorrhiza and its role in agriculture.
GeurLiLehews LDHMID GeueTmetoTemLDuNed T Limki@ LHmiuLD

eNersS.
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25.

26.

27.

28.

Write short notes about economic importance of

Lichens.

MEVSSHETSH6T6T QOUTHETISTT (PSHBWSHSMS LD

&([H&HSHLDNG 6T(LDGIS.

Write the causal agent, symptom and control measures

of little leaf of Brinjal.

&53Mufled fAbnemeo Cumu LW smTevofl SHnGSMs6i OHMILD

SLEUUMLG (PewM&ET LD 6T(LD&IS.

Briefly explain general characters of Bryophytes.

HengGuinenLL G&eflesr QUTGILILISTTL&6T LD & (hH& &S

NesG .

Briefly explain reproductive methods of Marchantia.

LDMT&amewrdlwimefled smevrlILBLD ELICILIHES LPEDME:EDET

&(HHHLNG NeTHS5.
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29a.

30a.

Section - C (2 x 20 =40)

Answer all questions.
Each answer not to exceed 1000 words

Draw diagrams wherever necessary
Write an essay about life history of Volvox.

QUMELEUTESIETT QUMLDEEDS: EUTEOMHEMM LIHNN 1T SLBEDT 61(LDSIS

(Or)

Give an account of the classification of fungi by
Alexopoulus (1962)

Sleo&BamUmeven (1962)60T Ly EhewE 6UMSLILIMLIQEm6TT LD

eNersS.

Write the causual agent, symptoms, etiology and

control measures of Tikka disease.

p&&m Crruies sryewnf, SiINGMs6T, CHMUILITOIEd DHMID
SLEUUMLG (LPewM&ET LD 6T(LD&IS.

(Or)

Write an essay about the life history of Anthoceros.
SpHCsMATNS6 QuMp&Hens augeonHenm LUHM R &LGewT

T(RGI5.

skkok
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AFN-1041 BB0O231

B.Sc. DEGREE EXAMINATION
NOVEMBER 2010

Second Semester
Botany

PTERIDOPHYTA, GYMNOSPERMS AND
PALAEO BOTANY

(Non -CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Draw diagrams wherever necessary
Section - A (20 x 1 =20)

Answer all the questions.

Choose the correct answer

1. Common elements of xylem in Pteridophyte is

a) Tracheae
b) Sclereids
¢) Vessels

d) Tracheids



aLAGLTenLLBaefleir emasnsded 2_6erT OILINGIEUTE cLped&Fam)
9 LrsaGw
S evBedlfiBaeit
8) 66uereLS6IT

A LI&SGSH6IT

2. Psilotum nudum is a

a) Terrestrial

b) Epiphytic

c¢) Aquatic

d) Mesophytic

eO&FGeOMLLLD [HTLLD @

9) sweeefl sreugd

Y OBTHDISTEULD

&) Biigsneugid

) LOGeromemLIL 610
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3. Sporocarp is seen in

a) Lycopodium

b) Selaginella

¢) Adiantum

d) Marsilea

sv@UNGIN&MITLI 61 SNausHed SHMeTlLGSNS?

3) emeoBamELIMQUILD

94 dleongdlereureveonm

8) SluINTbgLd

M) Lomr&edluim

4. Equisetum commonly called as

a) Horse tail
b) Flagella
¢) None of these

d) Cocks comb
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F&6flsuLLD eUMgIeITs euaunn HewP&sUILGSDSI
) GPemreured
9 eTmeIgz6v60IT
8) Seubnev eTgIOLSILEMED

M) G&MPls Q\&mevoTemL

5. The habit of Gnetum Ula is
a) Tree
b) Shrub
¢) Woody climber

d) Herbs

BLLLD 2 eonefledr euenigs] euLp&&LD
) g
S Usi
&) uppiomd

M) 6\FIQ
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6. Pollen Grains in Pinus is

a) Smooth wall
b) Spinous wall
c) Winged pollen
d) Binucleate
EOLIETTEN SHTUTSH6TT DSNBSD G6uerfgseurt
) LDPEDLDWINETTS)
Sp WeTCUNETDG)
8) dnGsH6T 2_emLuwig)

M Srewr® &H(H

7. Itis an equisetum related fossil.
a) Lepidodendron

b) Lepidocarpon
c) Williamsonia

d) None of these
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RS LSHE0T \STLITLETET (¢ LiQLDLD

3) QeoLABLTEL6BTIQTEST
9P Qe NGLTSHMTLIET
8) sflevedlwibGamesflwim

M) Gnhsamill ergIa|LSe0en60

8. The fossil belongs to Gymnosperm is
a) Williamsonia
b) Rhynia
c¢) Lepidocarpon

d) Lyginopteris

b GeoTmevEILITLEd SMewTLILIBLD O1&medeyuilit LilgLbLd

9 eflevedlwid GFmesflwim
9P emevfluim
&) Qe NGLISmTLIMEST

M) GveogdIpmLiLflen
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9. A Palaeontologist, who described Williamsonia

sewardiana was

a) Birbal Sahni

b) P. Maheswari

¢) B.G.L. Swamy

d) Fritsch
eflevebluid Gamesfluim seumiQuINesTT eTEUTLILIBLD SN LIQLDS6mS
sfleuflgs @m asmeosyuit BLjevor

) Uuned snsssevfl

3P 9. Cameiveurfl

&) 19.28.e160. GrEUMLS

R 19fes

10. Rocklike fossil is called
a) Carbonisation
b) Petrification
¢) Minor Fossil

d) Coalification
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&60CLIMetTM)| E\STeveYUT LIlQLDHS6dT EIIUIIT
9) &MTLENETEFF65T
9P wLfiNGasaesr
8) fml O\ mevegUAIT LigLDLD
m CamedllIGa &6t

Fill in the Blanks

11.

12.

13.

The development of sporangium from a group of initials
in psilotumis of .........ccceeeevvvveeerieeenen. type.
@ FalL euerflsefledlmmba svaummesTediib engGeom L s d6d

EUEITITES] DHEDLOUG «.evveveeverererenrerereeererennes eueTTESWIMGLD.

When protoxylem faces outwards, it is described as
QeuefGmBnsd MBS (H5 & LD HGrmLGLmem&6oLD

..................................... T60TM)| E)&FTELELLILI(BLD.

The stele in Adiantum stemis........cccccceveiviiinnnnnn.
SlRWNHFLD sraursden 6@ LGHulenr sTHMIS SHewM

..................................... CUEMSHEMII FTMHSII.
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14.

15.

16.

17.

18.

19.

The spore in equisetum is called ...........c.ccoeeenrvreeennnee.

ASHGEMETVLLD TOBLIMITGHEIT ...veeereereeereeereeereeeeennnns QUM LILIBLD.

The endosperm cells of Gnetum is called

BLLLD STOUTSHB6EI APEDOTELD B8t ...evvvvevecrcrrrevrircscrenisinnnes SHSLD
Pinus belongs to the order ...........cccccccvveeerreennnenn.

(20 N (21 601 Guiflesr OSTGSLILIMGSLD.
Carinal canal occurin .........ccoecevvieevieenneennee. stem.
&fleoTed HMEOOUMU BHS SETTIQE ...ooeevreeerrererenrnrnnrrreeenne
SmevorLILIBLD.

Williamsonia belong to the order ............ccccccvveeennnnnnee.
6fleoe0lwID GEFMEBAWIM  .oouvvniiiniiiiiiiieeeieeenes Gurfleor
OSTGLILITEGLD.

Devonian period is coming under ............ccceeeeuveeenrveeennee.
1QBEUMEDIILIETT SHITEOLD ...vovvverrcrerereniererereaenes WHS5He0 2_6Teng.
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20.

21.

22.

23.

24.

Lepidodendron fossil denote ...........cccccveeveeeveennnnnnee. genus
of pteridophyte.
Qe IBLIEL6BTeT E15Mev eT6dtLIg SLMGLNSemLL GLiflevts;Betr

..................................... GurfleoTonGLD.

Section - B (5 x 8=40)
Answer any five questions.

Each answer not to exceed 400 words.

Briefly explain stelar evolution in Pteridophytes.
evieeont OHMGLL6T uflesormip auenElulemen & &SNS

NesGs.

Write the life history of Psilotum.

OFBEOMLLGHET GUMLDEEMS QUTEOMDEND LD 6T(LDGIS.

Explain the sporocarp of Marselia.

mi&edlwimefedt svEUTGITSTIL LD 6MNeT&ESs.

How Gymnosperms are classified?

ZIDBEITEIVEILITDGET eTEUEUTM)| EUEDSLILIBSSLI LIGS6TTDEor?
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25.

26.

27.

28.

Describe the anatomy wood of pinus.

EDLIETT6ND FHETOTIQETT 61T SiewipLiewLt LD effleurfl.

Briefly explain methods of fossilization.

615 medeyIUIT LIQLDLD ©_(HEUTEGLD EUENSHSHEDET Si(hSHSHLDNS 61(LDGIS.

How fossils are classified?

LIQLDIRISET eTeueumm)] 6uen&LILIGSSLILIGLD.

Write a brief account on Lepidocarpon.

6\eoLIBLASMITLINGST LIDN) S(H&SLDNS 61(LDSIS.

Section - C (2 x 20 =40)

Answer all questions

Each answer not to exceed 1000 words.

29a. Write an essay about structure and lif history of

Selaginella.
aFeomedleleurevevmefleit HeWLDLIL| LDMHMILD UMTLDESEME CUTEOMD)]

umn) R SLEEDT 6TLSIS.

(Or)
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b.

30a.

b.

Give an account of life history of Adiantum.

SlQUINTHSLD QUMLDEENS eUTELMDEDD LD 6Mens:@&s.

List out the economic importance of Pinus and Gentum.
emuesrs WHMID BLLD SpBweupmledsr OUTGETISTT

PHBWSFI6USHMS \FHTSSHG Famis.

(Or)

Write notes on the following

1)  Lyginopteries

ii) Pentoxylon

SlpsaemTLeuhemmL LD SMILIL 6T(LDSIS.
1) eweogdeormiielrfleiv

1)  6WesrGLIemervedm6dT

skkok
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AFN-1042 BB0232

B.Sc. DEGREE EXAMINATION
NOVEMBER 2010

Second Semester
Botany

CYTOLOGY, INTERNAL MORPHOLOGY AND
MICRO TECHNIQUES

(Non -CBCS—2004 onwards)
Time : 3 Hours Maximum : 100 Marks

Section - A (20 x 1 =20)

Answer All questions.

Multiple Choice questions.

Choose the Correct Answer
1. The source of illumination in light microscope is

a) Ordinary light
b) U.V.rays
c) Both

d) None of the above



eerfl mieTorGevornsBuied LWGTLGSSILELD @6rflepeod
9) sngnrevor el
P LD eergnasSi
&) Brem@LD

) eT&Ia|LSIE0Em6D

2. Power house of the cell
a) Chloroplast
b) Plastids
c¢) Mitochondria
d) Nucleus
61560601607 SHMHMED EHLDUILD
9 uUSMHIGETl&LD
9} sevoflBmIs6T
8) ewwL s mevorierlwim

M) 2 I'&dH
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3. Synapsis occur in
a) Leptotene
b) Zygotene
c¢) Mitosis

d) Amitosis

dlevrmidleny smeworLILIBeUS)
) QeoLIBLmI6dT
O mFCsIMIQeEsT
&) emLndlev

) eyemLrdleiv

4. Aerenchyma is a kind of
a) Parenchyma
b) Collenchyma
c) Stone Cell

d) Scleroids
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6TIGOTEMSLDIT 6T60TLIG)
9) UNT6EITENSLDIT
9Ob) G&HMELEIT EWMSHLDIT
8) H60 6160

m ervderflemmLsiv

5. Exarch Xylem is found in

a) Stem

b) Root

c) Leaf

d) Branch

ETE6IVITITES EMFEVLD SHTETTLILIBEUS)]

) Hevi®

3P Geurt

&) Geweo

m Hewer

AFN-1042




6. Dorsyventral leaves are found in
a) Dicot Plant
b) Monocot Plant
c) Both

d) None of above

Ged Sp GeumLITLTEN BeWe0&:6T SHTevuTLILIBeus)
) SmeNsHemev Fmeugid
3Sp) RH6NSHeMevFHTEUTLD
&) SremELD

/) 6TGHIOYLD BE0En6V

7. Bundle sheath is found in
a) Dicot stem
b) Monocot stem
c) Both

d) None of above

AFN-1042




SO 26w SHMewrLILBeus)
) BmesPHemeo Hevor®
S SslsSmeza®
&) SremELD

/) 6TGHIOYLD BE0En6V

8. Medullary Bundles are found in
a) Boerhaavia
b) Dracaena
¢) Nyctanthus

d) None

6 @evevrl sumevGeOMTT OGTGLIL| SHTeTT LGS
S) Gunureameflwim
Sy pn&eurm
8 BéLTbssh

/) 6TGHIOYLD BE0En6V
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9. The reagent is employed in permanent whole mount
a) Paraplast
b) 10% venetian turpentine
c¢) Formalin

d) Alcohol

Bubsr WwpUSINed LweTUGSSILGLD CeuBlIOLITHeT
9) umgmaeTmeioL.
9P 10% Seuesllegluiedt LITLIGITEmL 65T
&) Sumedlest

) SH60SHAUDITED

10. Tyloses are developed in
a) Xylem
b) Phloem
c) Cortex

d) None
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6oL Geormerveiv SmevoTLILIBEUS)
9) em&6oLD
Sp) YGemmud
&) ymewof

/) eT&IAILD GE0En6V

Fill in the Blanks

11. The images of Protein molecules are seen in

12.

13.

.................................... Microscope.

LIS epevsd Samiserlest HemDLIEDU ..........

HITTGETOTTESES LPEOLD SHMLIEOMLD.

Cell Organelles are surrounded by ........

membrane.

1F60 2 LEAMIBOT .ovvvvrnnrrnnnieinnnieinnnnnns

&LPLILILBETETS).

Stroma lamellae is found in ...........

organelle
e Gombm  Gev6IDEVDEOT  STetuTLILIBLD
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14.

15.

16.

17.

Ribosome’s are attached on the surface of the
fGuNG&mb& 6T RIS T6wrLILIBLD 61560 2 I sam)

Irregular shaped sclerencyma cells are
QBISDHM CUIREULD CISHMTETITL. 6TVBETITEITEMELDIT .......ovevvrncniecrnenens

6T6oTLILIBLD.

The absence of cambium in a vascular bundle is
GaWLAWLD DD CUTEOGEOMT EYGITGLIL «..coveevvenirerineneriiaesnenenes

6T6oTLILIBLD.

.................................... is the monocot plant having
Anomalous Secondary growth.
Signsngewr @ueworLnid [Beweo eueniiEdl HewLOLMID

RUHENSBEWED SITOUTLD ....cocvvevirinirrerirciiennns
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18.

19.

20.

21.

22.

Circular DNA is found in .......ccooeevviiiiiiniiiniiinnnn...
organelles.

&1ped DNA &nemriLBId 61F60 2 LEaM) ...oocvvvcerrineiciiianenens

Bast Fibers are foundin ......cccooeeveveveeimvieeeeeennens

LIT6MOL. [BITTGEIT .vevvverenrererereeseeseresnsesenis 60 STeTTLILIBSMDS).

Glycerin gellyis a.....ccccceeveeeeecveeciveeennenn. Mountant.

Berll&M6oT 612360601 (B ....vcvvvvvvvrrrreiineen, USLILBGSS SpSLD.
Section - B (5 x8=40)

Answer any five questions.
Each answer not exceeding 400 words.

Describe the structure of light microscope.

eerfl mietTGsvornaBullett SlemibLienu effeurfl.

Explain the structure, chemistry and functions of
plasma membrane.
Nermeoonm Feuefleir HewwpLi GeudLiLeworL DMHMID & 6o

E\FWIEL&EMETLI LIDA 6T(LD&IS.
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23.

24.

25.

26.

27.

28.

What are the significance of Meiosis?

SO LIGLILNEIT (PSHSWSSHIEUSHEMS 6T(LDSIS.

Give an account of meristematic tissue.

OpSH&SFHSHMET LDM) 61(LDEIS.

Describe the structure of Monocot stem.

RHeil5Seme0 SeuTeeit SlemibLienLl 6flens:@s.

Write short notes on Periderm.

ewfleLib ubn) S 6TLpsIs.

What is nodal anatomy? Explain its kinds.

&G 2_6ITATEMLDLIL| 6TEITMITED G660 ? HG6TT 6UEmSHS6nen efleurl.

Write notes on fixatives.

USLILGSSS6T LUhM 61psis.

11
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Section - C (2 x 20 = 40)
Answer all questions.

Each answer not to exceed 1000 words.

29 a)Describe the structure of plant cell structure and its

organelles.

ST 61&606065T SHEWMDLIEHLILILD SHG60T 2 L' SamisHemenid Lbaj
efleurfl.

(Or)

b) Write about the structure and functions of xylem tissue.

&S SHaelleil HeMDLIMUW|D, QFWEOSHEMTUD LD

effleurrest eMemLwierfl.

30 a)Give an account of normal secondary growth in dicot

stem.

BmelsHeme0 ST S6mTeed HePLAOLIMID SIetrLmb Bened

euerigglemwitl upm) eflens@s.

(Or)

b) What is maceration? Write the different methods of

maceration techniques studied by you.
ODETLSOTSHSHED  eTedIimmed  eredrenr?  [Hefli  Lufedrm

GIDESTLISLDMES6D M Limisemer LD efifleureor eflemLwierdl.

sk
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AFN-1043 BBO331

B.Sc. DEGREE EXAMINATION
NOVEMBER 2010

Third Semester
Botany

EMBRYOLOGY OF ANGIOSPERMS AND
PLANT TISSUE CULTURE

(Non -CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks
Section - A (20 x 1 =20)

Answer all the questions.

Choose the correct answer

1. The inner most layer of anther is
a) Endothecium
b) Epidermis
c) Tapetum

d) Exothecium



D&IHSSBET 26T IHB&HES 6T6dTLIS)
9) ererrGLISHAWID
9P erIeILiusien
& LSLb

) ers@eromSduiLd

2. Pollen grains containing

a) Unilayered wall

b) Two layered

c¢) Three layered

d) Four layered

L&IESSS60 BBLILSI

9) B SHBHS gweul

) B HB&HS Foul

&) epetimB&HES Seu

M BIeTsB&HS el
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3. Pollen Embryosac was first reported by

a) Nemac
b) Jackson
c¢) Sanger

d) Maheswari

w&NbEs ebLIIMNCWNCss aeiiLms wWsedled sanwieurt

3) QIBLDS
Oh) BEF60T

&) gnamn

) LG&erveurf]

4. The ovule is otherwise called
a) Microsporangium
b) Archesporium
c¢) Tetrasporangium

d) Megasporangium

AFN-1043




& 601607 LDM) ST
) mLD&BIMEELIMTTETZIWILD
Sp) Spis&EerGUMluiLd
&) e LgmeveumgmeiTegui

A) GWDSMENEIMTTEITZWILD

5. The term poly embryony was first coined by

a) Nair

b) Hyde and Williams

¢) Nemec

d) Jackson

LI6D &(H&S6IT 2_(HEUTEUNS (LPSHEITLPSele0 SetoTBLIlgs s el

) i

Sp) eman® LHMID 6evedluiLbev

8) Qs

M) M6
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6. Dry heat is used to sterlize

a) Medium
b) Glasswares
c) Explant
d) All the above
2_eorelauliL mletorewudit Basb OEuiLGag)
) 21 &b
O HETOTETOTITQ EILIMHLS6IT
8) aigevLfemmevorL

/) GLDDHE 6TOTL WITEYLD.

7. Solidifying agent in the tissue culture medium is

a) Sucrose

b) Charcoal

c) Agar

d) Aminoacids
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B8 QUenLIL| 2611 556mS S [BEMEOWINS LDMHMIEUS)
) &&GHme
) &SI
&) s

) ABICEDTT SHLOCOMRISEIT

8. The enzyme used for protoplast isolation is

a) Cellulase
b) Chitinase
¢) Peraxidase

d) Polymerase

HGom:BLmAenmmev@semen sevllsgiliifss 2 galb amnd

) O1F60ey G606y

Sp) el ieBeursi
&) eugnsHAGLev

) umedleGreiv
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9. Somatic embryos are otherwise called

a) Zygotic Embryo

b) Embryo

¢) Embryoids

d) Partheno genetic embryo

2 | 60 s(hGSa e meLIWLIT

OD)SHAPLEDL SH(IHSHHET

) &G

&) enbLAgomUILe

M) umidGevm6rgzevflies: &HoHe6T

10. Encapsulation of somatic embryo is done by using

a) Calcium Carbonate

b) Sodium Carbonate

¢) Sodium Alginate

d) Sodium Chloride
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2 1 605 &H([HHHEHHS 2 ewDUiLLI LiwesTLBeus)
9 sneodlwib smTLGesIL
Op) Gameuib SmLGeoTL
&) Gameuib SHeoHGevIL

m Gameuib HBemmemI®

Fill in the Blanks

11. Glandulartapetumisalsoknownas.........ccccceceeverreervenenen.

B6MTesoTBOOMT LIILGSH60T LDMIEWIUIT «..ececeerrrrernneecacaeaes

12, is the first stage of male gameto-

phyte.
Sp600T CHLIL GLEMLILIQE (LPHED [BEDED ....ovovevevevrrevnrrererererenens

13. Pollen embryosac was first discovered by
Gumevett  erIMCWNCESHEER  WpHedlev  serr®LIISS6ulT
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14.

15.

16.

17.

18.

Mature ovules classified in to ..........cccvveeeeeecrveennennnee. types

PT35I 1 EUEDSLILIBLD.

Fertilization is a fusion of ...........cccccvvvvvivviiiennnenn. and
SHEUMNIHEN6T BLITG) BEWETTTOUS)] .....vvvvverrerererererererennes LDMMILD
.................................... Medium is commonly used in plant

tissue culture.
sme s euemillled LTeleOns: ULWSTUBESHHID 2erL &LD

.................................... is the carbon source in plant tissue
culture medium.

smer H& euenily e 55860 SHDLGLITIHET ePEODTS
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20.

21.

22.

23.

24.

Callus undergo ........ccoceeeeveeeevrrennnennn. to form organs.
1 (2T b8 DNSIID HEML UG TED

2 _MILIL|S6IT 2_(HEUTSESTMEUT.

.................................... is used for protoplast fusion.
HCrmGLmNemery eWETIMEAMES +voovvverrnrrrneirnienneiinniinnnnnn.

LWeTUBSS LGB

Section - B (5 x8=40)

Answer any five questions.
Each answer not toexceed 400 words.

Explain monosporic embryo development.

on@evmerv@unilss &h euerigd] LbHM) efeurf]

Comment on double fertilization.

SULenLs SHaymIsed L) SHILLGS.

What are the functions of endosperm?

eTevoTGLMenGILIMD&6rfl60T LictoflgeiT er6dT60T?

Write short notes on Apomixis.

SNCuMASerdlev LD S(H&SSLDNS 6T(LDG)I.
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25. Briefly explain moist heat sterilization.

RIQGILIL FHisoreuilit BasD L shesns efleurl.

26. Explain organogenesis in plant tissue culture.

sneug S& euemiLifled 2 miLi 2 peumseo LN efeurfl.

27. How to prepare synthetic seeds?

QFWMEms cflengHemaT sleueunm| 2_MHLIGS C\FWIeUmI?

28. Give an account on protoplast culture.

YGom-GLmilermmeivL. euermiTLIL] LIDN) OSHT&SS6SH(LDEIS.

Section - C (2 x 20 =40)

Answer all questions

Each answer not to exceed 1000 words.

29a. Describe the structure and development of
megasporangium.
QD sTEVOLTINETZEWSS6E HeMIDLIL| MWD eueTTESemuwl

efeurfl.

(Or)

11 AFN-1043




b.

30a.

Describe Polyembrony.

LIeO&(H 2_mieungeo L) effeurfl.

Give an account on callus culture.

&IT60610 GUATITLIL] DM O1STSS615(1DSIS.

(Or)

Explain

1) Cell culture

ii)  Meristem culture
efeurfl

1)  sefage euaril

i) Ope&sder v

sk

12
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AFN-1044 BB0O431

B.Sc. DEGREE EXAMINATION, NOVEMBER 2010

Fourth Semester
Botany
BIOCHEMISTRY AND BIOTECHNIQUES

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (20x1=20)
Answer all questions

Choose the correct answer :

1.  The pH of the water
(a) 9.
(b) 8.
(¢ 7.
(d) 0.
Bfler pH ereirLiz) 2
(2 9.
(=) 8.
@ .
(/) 0.



2.

Stereoisomers are

(a) Optically active.

(b) Optically inactive.

(c) Both.

(d) None of the above.
evleflGwim gy Gan GlFaser eTesTLIZ ?
(s1) edaflennbg Gsweoyflwene.
(=) @6fl #ming Glgwew Lflaudleoensd.
(&) Qrevorio.

(/) Cunaanw ergia|blevenev.

Electrons found in M shell is :
(a) 2. (b) 8.
(c) 18. (d) 32.
M- GQlg60606v SMeTTLILI(HILD 6T6V8L_[FT6ITS 61T

(&) 2. () 8

(@) 18. (/) 32.

AFN-1044




4.

Covalent bonds are also called
(a) Non—polar.
(b) Polar bonds.
(¢) Homo polar.
(d) Weak bonds.
&8 Nlenewtlienu @LiLiqu b SienpLiLy
(=) SImauLHD Senevoriiy.
(=) BI@HE Sevewiiy.
(8) 255 simen Neewrii.

(/) QwedBs LNlenewwTLiL.

Hexose contain
(a) Ketone group.
(b) Aldehyde group.
(c) Alcohol.

(d) Ketone or aldehyde group.
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Cam&Gandley 2_smeng

(@) & GLnsir Oz,
(=) Speoreman® Csn@S.
(®) empmuib.

() SL_CLresr 3160608 he0q6man(®H CBmEHS.

The major component of silk fibers and spider web is
(a) keratin. (b) elastin.

(c) fibroin. (d) thrombin.

UL @ewip LOHMID HevbSl euemevudled 2 et (&l wiomest
Cummer

(1) Qarmiigen. (3y) 6T6VNEIq 60T,

(&) ewuliGrresflesr. (=) gGrmbL6bt.

Saturated fatly acids contain
(a) Double bond (b) Single bond

(¢) Triple bond (d) Lipid bond.
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Wwig QampLiy oblevrisefler 2 eeng.

(&) QrievL Nemeworiiy.
() @nenm NemesriiL.
(&) epermi KNewemoriiyy.

(/) 9L NlemevorLiLy.

In ultra centrifuge, the speed is
(a) Low speed
(b) Medium speed
(c) High speed
(d) Very high speed.
SieoL_nm GleestflSluefesr Goussid
(31) &oDHS Ceusid.
(=) BOSsT Cousid.

(8) o8ls Ceousib.

(/) s s Geusibd.

AFN-1044




9. The common adsorbent wused in coloumn

chromatography is
(a) Ca CO;. (b) Ca, CO;.
(c) CaNO,. (d) CuSO,.

gnesor BlpLin@lunesfled Cungeuns LwesTLBSSLILGID

NI () (ATRE . [
(=) Ca CO,. (=) Ca, CO,.
(&) CaNO,. (m) CuSO,.

10. Colorimeter is based on the principle
(a) Beer law
(b) Lambert law
(c) Beer—Lambert law

(d) Dalton law.
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aCeorfl SLL7 e1hg Camemensullenm g LiLienL ulled

QeweouGEmg ?

(=) 97 5.

(=) eomdelurL 695

(8) S - eomboluF 4.

(Fr) LmevL_6o1 6.

Fill in the blanks :

11. The anhydro bond formed between amino acids is called

Grewst(h Cestm yflevrserflen GenL_wi 2 (Heum@H 2y 6wt
emanL_Grr VenewriiinEg ———— stesrm) Gluw.

12. Acidic solution contain ——— H*ions.

———— H* gjuesflgen gjflev senraede 2 smeng.

13. The capacity of a solution to resist alteration in its pH

value is known as

M seorsedler pHl Ay LIMMWE FHSEL Haness
—————— eTevIM)| SMP&ESLILGOS DG

7 AFN-1044




14.

15.

16.

17.

Human blood contains ———— mg of glucose per

100 ml of blood.

wefls @ressdler 100 ml QrssdnEg ———— mg
&EHaCaen 2_6Teng).

protein is the main component of hair, finger

nails and feathers .

(Plg, B WHMID D6V HrewTLLIOID (PEHElW DT LTS

An ion that has both positive and negative charges is

@@ Sjweflulled Cry HMID ST iy o Slw @remr(Hbd
BmBFHTe0 ———— eTev1my GlLIWI.

type of electrode is used in p* meter.

—————  amswnenr sl Crr@® pH B fleo

vweTL(HS5SUOEHDG.
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18.

19.

20.

21.

22.

The speed of Table top centrifuge is —— r.p.m.

Cuwene Glgssmie ] o%Ljupsndlen Gougd ———— r.p.m.

Mobile phase in paper chromatography is

gsrent SpLiL@Liunefled B&@HLD Hlened ———— .

Anabolism is a —— process.

Sj6ut LTS &b e168TLIG ———— GlFwev.

Section B (5x8=40)
Answer any Five questions.

Write short notes on buffer

Lo sLiLy upml A GNILILY euenys.

Write the biological importance of properties of water.

2 Wflweo WesHlwsgeud eurlihg Bfles LevwTLSemem
61(LDGI5.

9 AFN-1044




23.

24.

25.

26.

27.

28.

Write short note on polysaccharides.

ureSignseny(® upmd An GOILY euenrs.

Explain the primary structure of proteins.

Yrssdlest (psen Hlemev jenLiL) umnl ellens@s.

Describe the factors affecting enzyme activity.

QprSlullesr Gleweour e LTHlsEGW0 srrenflaenst LDHI

eleuffl.

Write shorts notes on Co—enzymes.

glemewt Cpndlaenet LD S GHOILIL euenTs.

What is the working principlle of colorimeter.

aGeomfl 5L flesr @wirki@ S5z6uld wng ?

What are the uses of chromatography ?

Blriu@lunesfles LiwestaeT winemeu ?

10
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29. (a)

(=)

(b)

(=)

30. (a)

(1))

(b)

(=)

Section C (2 x 20 =40)
Answer all questions.

Write an essay on classification of Carbohydrates.
wreylt Qurmlasefles auemasliurigener LHH

SL_(H6OT U TS.

Or

Give a detailed account on isomerism.
oGamoflew unm elfleuner CsnE@LIY H@HS.
Write an essay on structure and properties of
lipids.
el seaflest gemwiy wLOMID LY LiH
SL_(H6OT U TS.

Or
Explain the principles and methods of
electrophoresis.

616005 L_Cre’ Gy Sl 63t 586U LHMILD CUENSHSEN6T

umnl eSlens@Hs.

skkok

11 AFN-1044




AFN-1045 BBO 531

B.Sc. DEGREE EXAMINATION, NOVEMBER 2010
Fifth Semester

Botany

TAXONOMY OF ANGIOSPERMS AND ECONOMIC
BOTANY

(Non-CBCS—2004 onwards)
Time : 3 Hours Maximum : 100 Marks

Draw labelled diagrams wherever necessary
Part A (20x1=20)

Multiple choice :

1. Who is the father of Botany

(a) Andrea Cesalpino

(b) Theophrastus

(¢) Hooker J.D.

(d) Linnaeus



sreurellwedles sheng steor GLUIHOL CumLIeuT wny ?
(31) e flCw Slgev NGewtm.
(<) SHCGwmgrev_e.

(&) av~sai 01.1.

(Fr) eSlearGevTwien.

Systematic Botany includes
(a) Usage of plants

(b) identification, Nomenclature and classification

of plants.
(¢c) Reproduction and identification
(d) Habit and Habitation.
weopliuGsdHwu sraurellwed Qeunmlene 2 6oL & @ -
$mgy.

(1) sreurmsefles LweTLT(HS6T.

(=) smeur Qenmisemst sewiLged, Cuwi &L (B\S6v,

QUEMSLILIML_Iq.UI6V
(&) Qe QLMISBSLD WHNID SevoTL_PlSH60.

(FF) eusmiflwed eumpedlL_Lb.
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3.

A specimen selected from the original material

(a) Isotype

(b) Lectotype

(¢c) Syntype

(d) Prototype.

&0 Freurs FMledmha Csre Qewuwiiul L wrdfs

STall LITSLD
(S) RFSUMmS.

(=) Qevs GLnmenL_Li.

(©) Yevevsray euens.

() LGrm G emL_L1

Genera Plantarum was published by
(a) J.D. Hooker
(b) Karl. A.E. Prantl
(¢c) KM. Mathew

(d) Carolus Linnaeus.

AFN-1045




Cxevflym MemnewstLnywd eTesTLIeng GleusfliLi(GigSlweur.
(@) Ox.1q. an~&si.

(=) &Tev 61. @. NymeserL_ev.

(&) Gs. 61bd. OTSWY,

() &Crmeveny eSlesTGeuTILIEN.

Ternate phyllotaxy is seen in
(a) Allamanda
(b) Acalypha
(¢) Nerium
(d) Ocimum
CLGer_ @emevwienine| QSlev srewriLGEmg ?
(S31) 316060 GoesoTLT.
(1) HsTedlooum.

(@) Bflwo.

(/) ypendlioib.
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6.

Which inflorescence has a receptacle ?
(a) Umbel
(b) spike.
(¢) Spadix
(d) capitulum.
61hS 6UENS EhEFUNey oy FTesID 2 6iTengy) ?
(31) Sybuev.
() evemnLIs.
(8) evGuigsen.

() Gall_(Hevib.

Cone like torus is found in the flower of
(a) Anonaceae
(b) Cucurbitaceae
(c) Rutaceae

(d) Mimosaceae.

AFN-1045




8&@Mwusdles weuflev gl GumesTn LhSSHemiiLjenL_LiL|
snewtiuOSng) ?

(3) entGernCentdl.
(=) @sar N G4,
(&) ep_GL4.

(=) emwGrGervdl.

Which is called the ‘Mustard family’ ?
(a) Anonaceae
(b) Brassicaceae
(¢) Anacardiaceae
(d) Apiaceae.
‘aO@3 @OWULD’ 6168 JemP&HLILOHEDS 618 ?
(3) entGernCentdl.
(=) UGrenfl&ECadl.
(@) SiewsnigGLwd

() e AGwd.
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9.  Which is the species epithet in the following
(a) Hibiscus
(b) Indica
(c) Tribulus
(d) Acalypha.
SpaesTLeupmie Apnjles enL_Glwmlulenes sevor_nls.
(1) swanLfevgen.
() Qevorga.
(@) Lflyevsiv.

(/) S18meSlo’oLum.

10. Trimerous flowers and parallel venation are also main

characters of the class
(a) Dicotyledons
(b) Gymnosperms
(¢) Monocotyledons

(d) All of the above.
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PPGUMEIS LDEVTEET, QlemenTiCLITG @ BIbUmLE| Ol&TewsTL

Bevevsst Geueu@ Ll LATSTeTLl LISRTLSET SpE)b.
(1) @meisdleneo.

() 2bCemmenv@ILifib.

(&) enasdme.

(7) Siewensgid sfGwW.

Fill in the blanks :
11. ———is a phylogenetic system of classification.

uflewrmn (erGevtnd @ euensLIT(D 6o JjevWsHHLILIMH6UG

12. Naming of plants by two words is

Bm Qensemned FHMeurmsEHsHE LWy GO (Wpeon

13. ————stamen is the characteristic of cucurbitaceae.

D&THSSET Sewey GHSST LI GLfulle fmLiy

LI6VBTL.
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14.

15.

16.

17.

18.

19.

is a fibre yielding plant.

————— B S(HID STQUTLD I &LD.

‘Flora of British India’ was given by

‘DAl igeay @nbSwu sraureer Uliqwened FHhgeu T

is the Taxonomic unit of any rank.

STaIT 6UeNSLILIML_IqWeSl68T 3|60@F ———— 6TaTLIGHM(&LD.

Sleeping movements by the leaves of Mimosaceae

member is due to the presence of

eowlwrGsndl @M wbugsSler Pemevaser @relled 2 mHkiELWD

Busssms s (heusm @ ———— SMTewILD.

Olive oil is obtained from

24,6161 6TETBTENETBTUI EMEVT H(THLD ————— SHTEUTLD.

Botanical name of Gum Arabic

s Qrrisdlen sreuredwed Gluwy ————.

9 AFN-1045




20.

21.

22.

23.

24.

Resupination is seen in

FeoLp Spenne| Qe srewwTeond

Part-B (5x8=40)

Answer any Five questions, each with in 400 words

What are the principles of taxonomy ?

euemaLiLTLiqwiedlest GBI (pevrma6T wnemeu ?

What is ICBN ? Explain its principles.

oSl letenr eTeIMTEL 6T6vTONT ? F6sT GlBH (LPpewMSemern
Meufl&sa]i.

How are Herbaria prepared and maintained ?

QanifCuflwbd  eeueurmy sSwrflss LD M M) LD
usLOSsUGADSI ?

Describe Gynostegium and Translator.

maGearmevigwin  wHmib  LyrerevGeo L flem e

Meufl&sai.

10 AFN-1045




25. Write a short essay on chemotaxonomy.

Caudlullwp euemsLium_iqwened UPN @b fn sL_(Henr
61(LDGI5.

26. Give an account on the aestivation types.

fspeowe| LD @ CIBNEGUY SMHS.

27. Describe a typical spikelet of Poaceae.

CurCwdl &M wusdles avenLslev_iqemes elleufl&seab.

28. Give an account on the dye—yielding plants

SMWLD (B STeuTmSmTL LD @@ CFT@LL F(Hs.

Part - C (2x20=40)
Answer any two questions each within 1000 words.

29. (a) Write an essay on BSI.

(=) BSIupd) @m s 61(pg1s.

Or

11 AFN-1045




(b)

(=)

30. (a)

(&)

(b)

(=)

Give a broad outline and explain Bentham and
Hooker’s system of classification. Mention its

merits and demerits.

QUKD LHNID OVSHST UEHSLILIMLIqemet 6l fleuns
D TIh I 9| 5 60 6u1 eNlen& s ayLb. S & 601

Blewm@enmaener Glgmevevea]Lb.

Compare the floral variation in Apiaceae,

Myrtaceae and Rubiaceae .
gliGwd, NFCL8l womib eplICwS GO wuGSes
weoy Caumium@sens ULNH\S.

Or

With examples explain the different spices and

condiments.

2 GnrewThisEphLen LeoGeum srylysenst Lm

Meufl&sa]i.

skkok

12 AFN-1045




AFN-1046 BB0O532

B.Sc. DEGREE EXAMINATION, NOVEMBER 2010
Fifth Semester

Botany

GENETICS, PLANT BREEDING, BIOSTATISTICS
AND MOLECULAR BIOLOGY

(Non-CBCS—2004 onwards)
Time : 3 Hours Maximum : 100 Marks

Draw labelled diagrams wherever necessary

Section - A (20 Marks )
Answer all the questions
Choose the correct Answer : (10 x 1=10)
1. 3:1isthe phenotypicratio of
(a) Monohybrid cross
(b) Dihybrid cross
(¢) Trihybrid cross

(d) Tetrahybrid cross



3 : 1 er6v111g) 6TEUGUEMNS BevL Il ersSlent LinSCEHTHM elSID.
(S1) @@ 6wt SeoLIL.

(=) Y 6wty seoLiy.

(&) epemi LT SeoLiL.

(FF) BT6DT(S) LIESOTL] SH60LIL.

The F, generation of Dominant epistasis shows the

ratio of
(a) 12:3: 1.
(b) 9:3:4.
() 15:1.

d 9:7.

erE uey ellevCLelledlenr UnsGammm eflldlzsn F,

seuLiSlevrg Flev
(o) 12:3: 1.
() 9:3:4.

@ 15:1.

() 9:7.

2 AFN-1046




3. The term linkage was proposed by
(a) T.H. Morgan
(b) Batson
(c) Castle
(d) Sulton.
oSev1 LiemewsTLiLy 61601 GlEFTELEmEV (LpFH6eSl60 LiwesTLI(DSS| Wwieu
(S31) 1q.6T8.LOMT&6T.
(=) Guiewetr.
(®) sredlev.

(r=) 6oL evr.

4. The chromosome that decides the gender is known as
(a) autosome
(b) allosome
(c) ribosome

(d) megasome.

3 AFN-1046




ureSlensensg Hiewruile@n &CrmGwrGamnbaser Geuaimm

SIeDPESILIBID.
(21) 2 GLnGamib.
(=) i60GeonGamid.
(8) eorGunCenmb.

() GuwarGemb.

Crossing of two genotypically different parents is
(a) Hybridization
(b) Cybridization
(c) Dibridization
(d) Fixing.

wriweo FfHwres Coumiul L @rewr(h QuHCoreny HeoLiL

Qeiis60.
(@) swanlilflen,_Geageor.
(@) sweflen, Goagps.

(@) e fenLCoaspsr.

GIRANGEETER

4 AFN-1046




6.

Emasulation is the removal of
(a) Ovary
(b) Uterus
(c) Stamens

(d) Stigma.

LD (& C60a368T 6T61TLIG ———— 23 B& @SB 60.

(S31) E605LD.
(1) smUenL.
(@) wenBs Srer.

(F) @60 (Pig.

Z(x—x

2
) is the formula for
n

(a) Standard deviation
(b) Mean
(¢) Median

(d) Mode.

AFN-1046




Z(x—x

)2
6168TLIG) 618607 eumuLImT(p).
n

() FLelevssid.
(=) grnefl.

(®) pHGleuew.

(Fr) 2 &&6uribL 61650160018 658.

Griffith proved that the genetic material is made up of
(a) DNA
(b) Protein
(¢) Carbohydrate
(d) Fat.
Hflool98 wryl Cummmenns BlmieSwig ez ?
(31) 1g.6T60T.6].
(=) Yrs.
(&) smGurenamnl’ CrL.

(/) Q&mupLiy.

6 AFN-1046




9. Which of the following is a nitrogenous base

analogue ?
(a) Ethyl methane sulfonate
(b) Nitrous acid
(¢) 5—bromo uracil
(d) Hydroxilamin.

eteu(Heustreummlev 618 emmBLTg6s Srrmsenen CuTetn

SO 2 enL_Wwig ?

(1) Feng6e0 ende0 F6000CLITGeTL .
(=) BT jblevid.

(@) 5-4yCrnGmuyGrenilev.

(FF) ewamL_gr&edlevenLoest.

10. Ligases join two fragments of
(a) DNA
(b) RNA
(c) Albumin

(d) Globulin.

7 AFN-1046




emevGaen CBrdl Metteumeustreupmlest (i & evoT(HISHEm6N
QL (DI SeTTemIDUIS).

(31) 1g.6T60T.6].
(Sh) 3476760167
(@) seoblet.

(/) &GermyeSlevr.

Fill in the blanks : (10x 1=10)

11.

12.

13.

Albinism in maize is an example for

Cenengdleo yeoleflevd  erergyy —————

T(DSSISHTL_L_MELD .

Crossing over takes place during —— division.
GNI&ECs sevggen etetLg ———— LflgeSlen Gung
BewL_GlLm)ib.

Material inheritance is the other name for

snieulfl wrywesn eesug ———— 61 LHeIpH
CuwrTELD.

8 AFN-1046




14.

15.

16.

17.

The percentage of linkage between genes favours the

@ &CrmGurCendle KlenewThg 2i6taEmadlanL_Gw b

—— R SFeluSadng.

Heterosis is the vigour shown by ———— than the
parents.

QamigCrrendilenv ererrug CQUHCrreny ol ————
a1 eSflwmELb.

Method of selection of plants on the basic of their

phenotype in vegetatively propagated plant is called

2 LeovOum&eEs sreurgmasefler UnsCasmmmsSen
SlglitienL_uleo Csiey ClEwu|bd (pewmé& @ ——— eTesm)

Quwy.

Median is the data point that divides the data into

BHIEWID 6T6V0T 6TESTLIG LITeUemeD &Flwing —————— 915

fls@Lb.
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18.

19.

20.

21.

22.

Deoxyribose is found in

4 Y HlenrGLrey ——— 60 srewTLILHE DS

The RNA that brings Aminoacids together is .

I Gevtm yLhlevEisemeT 6 (HEIHlenersTSH S 6l TEwsT(H 61 (THLD

O .6T60T.6] ——————.
End mutation occurs in the ———  codons.
Wig6] #FQS wIHHD ———— Car_nesfled BewL_GlLmI.

Section - B (5x8=40)

Answer any five questions.
All questions carry equal marks.

Answer not exceeding 400 words

Explain the blood grouping system in man.

werflzefled 155 euens Kliewruin LD 6T(LPSIS.

Explain the process of plant introduction.

LuWilrsenst M (WaLILOSSID (Pewn LDD) 6T(LSIS.
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23.

24.

25.

26.

27.

28.

Define Standard deviation with suitable example.

S L Nlevsasems &@HbS 2 STTewwSg)L 65T 6618 @ 5.

What are the back cross and test crosses ?

paseoLi wpmib Cangenen seoLIL| 6T6ITMDTEL TeTenT ?

Write note on Griffiths experiment.

Sl Ng e Cangenes LMD 67(LpG15.

Explain the characters of genetic code.

wrys GMuisefles LissoTenest elens @s.

What is the molecular mechanism in mutation.

gOS LIDDSS6I PPEVEFnM| LIMHDEISEN6T 651675 E)5.

Explain about the bacterial conjugation.

unsle flurelley Qemesrelenert ellens@s.
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29. (a)

(=)

(b)

(=)

30. (a)

(1))

(b)

(=)

Section C (2x20=40)

Answer all the questions.

Write an essay on sex determination in plants.

sraurtsefleo Lred Hiewrww GewLwlL@D

(pemmenw edeufl.

Or

Elaborate on any two plant breeding methods.

aCaenib @revor(m LWy Cu@HSS (Wenmaer LM

SL_(H6O U TS.
Elaborate the structure of DNA.
Ig..6T65T. 67651 687 HL_L_6mioLiemLt eXleuflé&eyLd.

Or

Writet an essay on the mechanism of protein

synthesis.

Yrsmasefles o (heuns@w (peom unml sL(henr

UEDTS ?

sk
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AFN-1047 BBO533

B.Sc. DEGREE EXAMINATION, NOVEMBER 2010
Fifth Semester

Botany
ENVIRONMENTAL BIOLOGY

(Non-CBCS—2004 onwards)
Time : 3 Hours Maximum : 100 Marks

Draw labelled diagrams wherever necessary
Section - A (20 x 1 =20)
Answer all questions

Multiple choice :

1. The term “Ecosystem” was coined by

(a) Odum

(b) Tansley

(c) Haeckel

(d) Reiter



“@LBlemev eveTL60D” 6160 ClFTEIEmEy LiweTLIRS S Weur.

(S1) eLID.

(=) Lnensled).

(&) Gansaev.

() fll .

Example for primary consumers
(a) Snakes
(b) Cattle
(c) Lion
(d) Birds.
Ww3ev Klenev HisTCauT(HSE) 1D SSHSSTL(D.
(1) LmbLse.
(o) U
(8) Amsw.

(FF) UMenEUSET
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3.

The water moves downward through the soil due to the

force of gravity is called.
(a) Percolation
(b) Total water
(c) Seepage water

(d) None of the above.

yelrmily elengullesiied Brmeng wewrenfler SpCrmrsd
BEGSG-

(3) QuiGsrGeugsur.
(=p) Quonss Bi.
(&) FiCum By.
(/) GmaesT_eneu wraybd Geenev.
Producers are
(a) Animals
(b) Plants
(c) Microorganisms

(d) None of the above.
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mailto:@���.

Beuiset 2 HLUSSWTETTEET :
(1) eevri@aer.

(=) STeurkIsT.

(@) mismamiuiflser.

(rr) GmaesT_eneu wrayd Geenev.

The unit of classification are generally called
(a) Plant communities
(b) Plant formation
(c) Plant succession
(d) None of the above.

auensLuTh sefller eo@GHeT GuTHauTs B eueurm

S W&5&LILI (RSl esTm 60T,
(S)) STeUT FEPSHBIGET.
(S)) Smeur 2 (Heungev.
(8) sreur eulfl (evm eueyEs.

(/) GmaesT_eneu wreyd Geoenev.
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6.

Pneumatophores are present in
(a) Xerophytes
(b) Halophytes
(¢) Hydrophytes
(d) None of the above.
Bl CLrleCurisst eupmlev srewriii(hdleomert.
(1) eumewnstL Klevd HreuTmiGer.
(=) #810Y Hlevd Sreurrhise.
(8) Bisgreurmisen.

(rr) GnaesT_eneu wre|b §evenev.

Viviparous germination is a characteristic feature of
(a) Xerophytes
(b) Halophytes
(¢) Hydrophytes

(d) Mangroves.

5 AFN-1047




NleCuren (peneTszer Feummles @IS FWID By (EL.
(1) eupestL [0S Sreurmiser.
(=) g1ty Hlevs Sreurmiser.
(®) Bissneurmiser.
(/) i@ Grmeu sTss.

Morphologically similar plant community having a

single species as the dominant is called
(a) Consociation
(b) Association
(c) Faciation
(d) None of the above.

8@ ApPlarsens BeSuns Qenem_ LpsCaHDSSH
@Cr wrHflune 2 61en FTaur Fol LS0H B eueurm

S| EMLPESHEVNMLD.

(1) seGanflCueagsor.
(=) CanslCuases.
(&) CuiGueagsr.

(/) GmaesT_eneu wreyd Geoenev.
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9. Biogeography is

(a) The distribution of plants and animals
(b) The distribution of plants
(c) The distribution of microorganisms
(d) None of the above.
LCWrCwinflyma erevtig.
(S1) STEUTEISET HMILD 69160MmIGS6T LITEU6D (LPenD.
(1) STQUTRISET LITEU6D (LPEnM.
(8) misswamuWilflssfles LTaisd (Weom.

(rr) Gmaesr wrejb Gevenev.

10. PANis:
(a) Peroxyacetyl nitrate
(b) Polyhydroxy Acetyl nitrate
(c) Polyacetyl nitrate

(d) None of the above.
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PAN ersirig

(1) Quimensl flevL6v B CrrL_.

(=) uredllemanL_yrsen dlenL_e6v enmL_GrL.
(&) unedl S emL6d emmpL_Gri.

(rr) Gmaesr wrejb Gevenev.

Fill in the blanks :

11. The study of kinds of soil ——.

LD6BYT eUEDSBSH6T LD LilgLiLig ———— .

12. The best example for terrestrial ecosystem is

gwleaefl GrHlemeouiwe QgrEHLYSEEGH ————

2_SM6UoTLD S(GLD.

13. The grazing and browsing reduces

Sesesflamen wHMID CouiFses elemeToured ————

SODUD.
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14.

15.

16.

The science of control in an ecosystem is called

GEleney weTLvGms s HLUOSH WD mlelwed
Beucurm| siewpssLLOS DS —————.

Adaptation of a plant to a new environment is

@wm Steurd YHw GrHameoule @L b Gumneg

The amount of abiotic materials present in an ecosystem

Gwhlened werTLvGHleo 2 uUlrHD samiseflen oemey
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17.

18.

19.

20.

A little amount of moisture is absorbed by the soil from

the atmosphere

euefl WwewTL 0G5S ei6men SAMlGemey I Lo 6vsTewfl 6vTTED

2 MlepeFliLi(Peug ————.

The oneway flow of energy diagram given by

OOV RULSHDES @O aufl LLFmS eupmslweur

Heterophylly is common among

Campul L @emev ewwliy ———— Freaurmsefleo

snesTLILI (A& ng.

is the world environmental day.

————— 6T6UILIG) 2 608 HDHMI(GLP6V SevTLomE)id.
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Section - B (5x8=40)

Answer any five questions.
All questions carry equal marks.

Answer each with in 400 words

21. Write about biotic components of Ecosystem.

G Hlemev wewT_eug 60 sremin 2 ulflws snmisst umnd

6T(LPSIS.

22. What are the impacts of soil erosion ?

wever FlLISesTTe0 FHLIGID eSlememay&eT wnenen ?

23. Explain plant formation.

FMeUTLD 2 (HeuTeugene eXleurl.
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24. Give a brief account on xerophytes.

aupent Koo Freurmseflen Fesremwenw &HSHSHLIS

aeul.

25. Explain the quadrats method of ecological study.
Ghleneo sem opuie) Lenflulled LweTLGWL GGl

(peomemw el6nd .

26. Write about the reasons for acid rain.

SIL6V LOEDL ETHLIL SHTTETITEISED6T 6T(LDSIS.

27. Explain Air pollution.

sMHm| r& LHGeneo ellens ).
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28. Non-renewable energy resources — Discuss.

H&IUN&S (Pigwng g nmened LD Se0bSTTUIS.

Section C (2x20=40)

Answer all questions.
All questions carry equal marks.

Answer should not exceed 1000 words each.

29. (a) Write an essay on Water pollution.

(=) B wre uGGeme LDD @ SL_(HEDT UMTS.

(b) Describe the anatomical and physiological

adaptations of halophytes.

(=)  CamGeomemui_(Daefler 21885 CamHmid wHmD ClFuied
Camhm saeuenwLiysenst LnMl edeufl.
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30. (a)

(1))

(b)

(=)

Write in detail about Energy flow in an

eco system.

GLHlener L0550 MM L LD LD
Nl fleuns 61(1LpSIs.

Or

Explain Nitrogen cycle.

eoBLr:en spndlenw eleufl.

skkok
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AFN-1048 BBO0631

B.Sc. DEGREE EXAMINATION, NOVEMBER 2010
Sixth Semester

Botany
PLANT PHYSIOLOGY AND BIOPHYSICS

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (20 Marks)

Answer all questions.
Multiple Choice : (10 x 1=10)

1. Water will be absorbed by root hair when concentration

of

(a) Saltsin the soil is high.

(b) Saltsin the soil is low.

(¢) Solutes in the cell sap is high.

(d) Solutes in the cell sap is low.



b5 Qofley @ Goul gredl Beor o Hlensd

(31

(=)

@)

(Fr)

2 L1586 Wevstentley flawrs @) (hH& @0
Qumrpg.

2 LIL|&&6TT Lo6usTeuniley (Gemmeuns Q) (hH&@Lw

Qumrpgl.

Qeev esrmempel  SedTUGLIMH6T

SSswns Yma@n Qumps.

Qeev esrmempel  SedTUGLIMH6T

GODeUTs QHSGW CluTWE.

Wilting of plant results form excessive.

(a) Absorbtion.

(b) Photosynthesis.

(¢) Respiration.

(d Transpiration.
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SpaseiL 61hs Klapey HH&WIs HLLULSTEO STy
aurge apubpg ?

(&) mlepasev.

(&) eoeaflleCarseans.

() aeundlggev.

()  BrreGuns .

In photosynthesis light is converted into

(a) Kinetic energy.

(b) Chemical energy.

(c) Passive energy.

(d) Catalyst.
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mailto:J�a@��U�P.

alleCersmaullesr Curgy eo6fl  ageauns
wrIOOLILGEDG ?

() Buss yphmev.
(=) Geudlwer ymmev.
(8) emssLHDH YHMEV.

()  Nementu, s,

4. Chlorophyll is a compound which contains

(a) Iron.
(b) Copper.
(c) Magnesium.

(d) Cobolt.
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LFmFW Fnl (L Glunmefled 2 ememgy.

(@) Smwoy.

(=) Geby.

(8) Ous&efldlwb.

(rr) CarumeoL_.

Fermentation is an

(a) Anaerobic respiration.

(b) Aerobic respiration.

(c) Excretory process.

(d) Incomplete oxidation.

AFN-1048




6.

Qprlsgeo stevg ?

(o) smHMeLeOn Feunsib.

(3)) sMDHm SHeunsi.

(®) QeaallGupniw Hspey.

()  (ppewLWDHD SHeallsTebd.

Nitrogenase converts

(a) Nitrogen into ammonia.

(b) Ammonia into nitrite.

(c) Nitrite into Nitrate.

(d) Nitrate into Nitrogen.

AFN-1048




oL CrrdlGeneiv wIHMIL GlFUIeaIF).

(o) eowpLlrsemes CGwresflumeuns.

(&) SiCwreflwremes enpLenrlL1s.

(8) eoopleorlieoLr oplCrlLms.

()  eopLCrien, emmLrens.

Plants which required short photoperiod for flowering

are called

(a) Long day plant.

(b) Short day plant.

(¢) Normal day plant.

(d) Short-long day plant.
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wiugnE GnIHw galssreon Csemeailiu@b
sreaursdne@ eluwiy

(&) OpOBET Hreurb.

(&) Gnuflw mBrem Hmeuri.

@ FNGMT6EVST HI6T SHTEUTLD.

(/) GSn&w - BewrL e Greurib.

A seed germinates when it is exposed to

(a) UV light.

(b) Red light.

(c) Far-red light

(d) Blue light.
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61 e6fl LOWLOILMIPE Nleng (PeneTaHEGHL ?

(&) UV gefl

(=) Sy gefl.

(8) Qszremev - Asliy eefl.

()  Bev gefl.

Unripe fruits can be made to ripe before proper time by

the application of

(a) Ethylene.

(b) Methionine.

(c) Abscisic acid.

(d) Xanthoxin.
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GOYLL sreosdn@ weunsGeu sreow sevflwins
wIHnesHE Pai LweTLGSSLESADS

(&) 15 Sledlen.

(&) OCwsHCunenewert.

() ufMls gleow.

() empGCardlen.

10. Ringing experiment was conducted by

(a) Curtis.

(b) Kennedy.

(¢) Dixon.

(d) Mason.

10 AFN-1048




cuememw Gergenesenw mL Sl wieur

(31) siLligen.

(&) Olaemevriy.
(&) ysever.
() Guegewr.
Fill in the blanks : (10 x 1=10)

11. Exudation of sap from cut end is called as

QeaulLtiul L ugdHuled @moba CeusflGunpliL@G b
grpPln@ Cluwy ————m—— .

12. P-Protein coagulates when exposed to

P-yrgw ———— ulL_nmev 2 emmuybd.
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13.

14.

15.

The electorn transport pathway is also called as

TEVSLIT6N SLSFHD LTHSHW BLILiguid HenpLiLiy

The number of FADH, molecules formed for each

aerobically respiring hexose molecule is

@@ CansGamav ppessnm smhm seurssdles Gurg
———— eaeanaflsemslieo FADH, epevssam

2 (Heunlng.

The root nodules of leguminous plants posses

as a symbiotic nitrogen fixer.

Qev@ilesrenv greursdlenr Geuy (piy&aseafleo ————
eoBLrmenen HleneoLliLiNSgb Fol (Hullflenw Glsmreswr(H
Besdps!.
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16.

17.

18.

Removal of sucrose and other Metabolites at the sink

end is called as

PREDL ey uGHde Brbs &6Grmev LHNIDL G5
aueniflens wLIHMH OCUIBHLESMeT SHMIISDH S

———— eTeomy GlLIwg.

The followering hormone is synthesized in the

&G anmrGore ——— Qmhgl 2 HUSSH HSDsI.

For breaking dormancy, the seed coat may be broken

and the phenomenon is called as

leng 2 naasems Cuns@eausnan, elleng G 2 enmenw
2 enL_53 eT(N&@W Klapeiln@ ————— steorm) Gluwy.
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19.

20.

21.

22.

Path of translocation of solutes is

———— ppeVld 2 ewTeyLl LlLMBHL 6T SHL_GSLILIRSH D).

Ability of micro-organism to emit light is

mievsTem)udl Fleut eerflfa60 SHlmenis @ ——— etestm) GlLIWI.

Section B (5 x 8 =40)

Answer any five questions.
All questions carry equal marks.

Answer not exceeding 400 words.

Explain the laws of thermodynamics.

Qa5 7CwrenL_esiflgenilen el smenst elens .

Give a brief account on the role of ethylene.

a15FleSlent Limiens UNN @ GHDILIL euenTs.
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23.

24.

25.

26.

27.

Explain Glycolysis.

Slemensarededlery LpM) eXlens@s.

What are the factors affecting transpiration ?

Brrells Cunsens Lndl& @ sryenfger wreneu ?

Differentiate C; and C, cycle.

Cywpmin C, spndlenw Caumu®ss smr_(bHs.

Write short notes on photoperiodism.

eerfl arevgemns UM Smy G euenrs.

Give a brief account on the role of isotopes in

physiological studies.

Qewelwev Liglil6d CerGLrilen Lkiens LD @@

SO euenrs.
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28. Explain Nitrogen cycle.

eoBLr:e spndlenm elens@s.

29. (a)

(1)

(b)

(=)

Section C (2 x 20 =40)

Answer all questions.

Answer not to exceed 1000 words each.

Describe the structure of stomatal complex and

the mechanism of stomatal movement.

Bemevgiemenuilest GFTGLIL SeHOLIL| HMID SiSH6oT
Bk wenmenw eleufl.

(Or)

Describe the cyclic and non-cyclic events of

photosynthetic unit I and II.

eeflECar Coremas ev@ I wpmiw II-e0 gHLEGD

gpndl oI &Pnd Heveons Hlape semer LDHM
aeul.
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30. (a) Write an essay on Flouoroscence and

Bioluminescence.

(o) eafllise wHmib 2 ulf eafllfper LD &G eor

6LI6MIS.

(Or)

(b) Give an account on vernalization.

(&) QeufestemeoCaager LM @ SL(DOT eunTs.

skkok
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AFN-1049 BB0O632

B.Sc. DEGREE EXAMINATION, NOVEMBER 2010

Sixth Semester

Botany
MICROBIOLOGY
(Non-CBCS—2004 onwards)
Time : 3 Hours Maximum : 100 Marks
Section - A (20 Marks)

Answer all questions.

Choose the best answer. (10x1=10)

1. Study of microscopic forms of life is known as :

(a) Microscopy

(b) Microbiology

(c) Mycology

(d) Mythology



BlewTolLBSSE allgen eumpellasenen LM LigLiLIg)
Beuaunn SeoW&5ELIHSDI.

() mISTOLmHES weo

(=)  micvorgmiud flweo

()  Lhepemgulluied

(@) Ubissned

The man who introduced sterile culture media is:

(a) Spallanzani

(b) Robert Koch

(¢) Lister

(d) Jenner

2 AFN-1049




BiewTe|ul ] Bas Cleulg 2o _s5ma (Pt (pFedev
AN psliuB S weur.

(o) evumeveTTEmefl

() Quruirl Cane

@ eSevLy

()  Qggevtewtiy

Liquid medium is otherwise called as :

(a) Solid

(b) Broth

(c) Stab

(d) Inoculum
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Bi5s ear_sib @eiounpid SiwP&sILGEHDS.

()

(1)

@

(1)

S

Slyng

e @1y

Bevng @ e01d

4. Major composition of bacterial cell wall is :

(a)

(b)

(c)

(d)

Pectin

Cellulose

Peptidoglycan

Lignin
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ursleflun ClFeos seufleo 2 6o GuGeommidlw Glummesi

(o) Olusigen

() OaevenGeomeiv

(@) QuuigCLrHenensre

() eS&evflest

5. An appendage involved in the transfer of Nucleic

acid from one bacterial cell to another is :

(a) Fimbriae

(b) Pilus

(c) Capsule

(d) Flagellum
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@@ urseflue CFeelel HBE WMHOMTeTHln @
Buyseflas gbleogems sL_ggeudler k@ O&TemEpLD
2 miuL.

(o) WopAAGCW

() emLIeV6IY

(&) srlevw,ed

() smelenp

6. Nutritional mutants are :

(a) Autotrophs

(b) Auxotrophs

(c) Prototrophs

(d) Phototrophs
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2_ewTey,l L Sglennev Slief rHDmLOenL_hSemeuser.

()  swledlgern

() 5Cervm-gfellaen

&) yGorGeron-aSell e

()  egerfl 2Sellaem

7. Which one of the following is not the device used

to control microbes physically ?

(a) Alcohol

(b) Hot air oven

(c) UV-rays

(d) Autoclave
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P& snewTUmeausefles Qg Cuendlas wenmulled

i svvTeueilufl fleenem s (HILIL(HSSHID 2 LIS T6EUID 3606V.

() Spevsante

() @L_TTer SIHDHEnM

@) UV-adlisen

() oL GLrlGemeu

The commercially available disinfectant lysol

contains :

(a) Alcohol

(b) Soap

(¢c) Cresol

(d) Penicillin
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Apuenens@ FHewLs@Gw mevsned etearm &l pL

prfleflufleo @ g 2 etengy.

() SL0&anTe

() Geml

@) dfleneo

() QueflfeSerr

Which of the following is a antigen-antibody

reaction ?

(a) Precipitation

(b) Antidoxination

(¢c) Oxidation

(d) Reduction

9 AFN-1049




S snesTUeneusefled B o 6uTiq Olg06sT- 2y 68T Lg LiMig

&l 6w 6o

(@) DAAINCLagen

() et Ln&enfl Cesraest

@) pseilzGenpmid

(FF)  p&erilmen @H1&s0

10. The organisms living on the surface of the leaves

are said to be :

(a) Rhizosphere

(b) Phyllosphere

(c) Lithosphere

(d) Biosphere

10 AFN-1049




Bewevaeflesr Cpurliley sumpd 2 ullFseT @eueurm

Rereveo i Emg.

() ewrGeromenSluiry

()  oolN60GeomeroSlwiy

@) 5CsmevNwiy

(/) uGurevNwy

Fill in the blanks : (10x1=10)

11. Anaerobic respiration is otherwise known as

sTHBleVON &eungd 6T 60T M) LD

X INE- AR ATO YT

12. Petri dish was first invented by ———.

QuLfl slem psedlev sewtHgss 6 EhEn el
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13. Pour plate technique was invented by ———— .

2erl_gI1d 2orm| SL(h HIL LSS sewt(h NigSFHeul

14. Locomotive organism of the bacteria are

unsleflunrsseflesr K&TH0 2 MLy

15. The viruses that eat bacteria are called as

UN& e fl w s & em 6 2_ 66T 6] LD 65 61 IJ 610 & 61) 61T

6168TM)| B 6DLPSSE0MID.

16. Humoral immunity involves

aflGuoryeo GCwmu ety o

2 eemL_&S&Elwg).
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17.

18.

19.

20.

A cellular microbes are

Cl&ev MM H6voTemmI Ul TS 6T 6TESTLIS)

The microbes growing on cold environments are

said to be

&l GuHeneoulled euenydlestm ) evor el ull fl & 6

eTenim| QlFmeveo i ma,

B.O.D refers to ———.

B.O.D aresiudles eNlfleungsn ———— .

MPN test is associated with

MPN Cangemevr 2 L 6t

QeryenLwg).
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21.

22.

23.

24.

Section - B (5 x8=140)

Answer any five of the following.

Comment on Koch’s postulates.

Cang-eo1 OameTenssenet e &5s.

Give an account on bacterial endospore.

ursleflunrsaseflenr sterGLmenCGunryaser upM

GOILY Sms.

Describe the Alcoholic and Lactic acid

fermentation.

SpVHADTeSS WHMID VTEL 198 v BT szHe0
unm edeurl.

Explain the characteristics used in microbial

taxonomy.

oot ull T&6T euenaL(D S S6S60 LiweL (DS UMD

LIGGSTL| S6061T 6X 61185 (5.
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25.

26.

27.

28.

With suitable illustrations, explain the role of

disinfectants in the controlling microbes.

558 (D55 & ST (OsEHL60T , Bl 6wt e ull s 6
s_(QUuB®sg 56060 Hml préleflaseflen L@ up
eNlena &)

Discuss the general properties of viruses

emeurevsertlen Qg uesTyast LnM eleund).

Give an account on Agglutination.

A& Cangen Bl em GHILY SHs.

Give an account on Mycoplasma.

eowsGamietrevwr LD CBTGHSSH 6T(LPSIS.
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29.

30.

(a)

(b)

(a)

(b)

Section - C (2 x20=40)

Answer all questions.

With suitable illustration, explain the
architecture of bacterial cell wall.

5585 LLBIsEHL6n UMSL leflwnsserflen

Reevageuflen sL_Lemwlienu elens@s.
(Or)

Narrate the contributions of Needham,
Spallanzani, Luis Pasteur and Robert Koch
towards microbiology.

mlesTem) Wil flueSler Bmeamnb, evuresrGamel,
eruilev umwevL§, wonw Prrujl Cane
< FCwnflesr umsefllienes gms.

Discuss in detail the physical control of
microbes.

miesstem) Uil flseflesr Cluendla (eom &L HLOSS60
un M eSleund).

(Or)

Write an essay on sewage treatment.

afle) Bi asdlafliy upmdl ewm s 6pgs.

sk
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BB0O633

AFN-1050
B.Sc. DEGREE EXAMINATION, NOVEMBER 2010

Sixth Semester

Botany
BIO-TECHNOLOGY AND BIO-INFORMATICS

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Draw diagrams wherever necessary.

Part A (20 marks)

Multiple choice questions :(— (10x1=10)

1. Double helix structure was discovered with the help of

(a) X-ray diffraction.
(b) Gamma ray.

(c) Beta ray.

(d) UV ray.
Iq..6T607.67-6d 68T QUL emL& &@HET eUigeuSnG 68T (D -

Ny Sseuiaet LweTLBSS g
(1) 61860 &S| NlevssLd.
() smon sHiser.

(8) S Ln sdise.

(FF) ymesrgr sdliser.
1



Enzymes that cut DNA at specific sites are :
(a) Restriction endonucleases.
(b) Exonucleases.
(c) Ligases.
(d) Polymerases.
Iq..6T601.676m6u GHMILINILL 8L _SHl6v Qleul_(Hbd Glpndser.
(31) Qrev_flaeases ererrCLmHluyseflGuisvser.
(=) e186GevmbluseflGuievse.
(®) emevGamenvae.

() uneSlwGrevser.

Conversion of RNA sequence into DNA sequence is

called
(a) Reverse transcription.
(b) Forward transcription.
(c) Side transcription.

(d) Encryption.
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mailto:�U�@��P�.
mailto:��@P�P�.

276765767 euflenSFEHW 1g..6T65T.6]. 6UNE LOMHM)| 6 —
(31) Neurenv qrrestendflLing6dr.

(@) (perGammbdu qynsei &fiiagsn.

(@) ussauT_ (O grreTavslflliages.

() eremdfliage.

Hybridoma cell is cultured in :

(a) CAT.
(b) RAT.
(c) EAT.

(d) HAT.

DanIAGLmor Qas @6 uamissiLGHDS) ?
(@) GsL.
(=) Gri.
@ 8 .

(/) amm_.

3 AFN-1050



mailto:@Pm.

5. Which of the following is characterized by

endosymbiotic algae ?
(a) E.coli.
(b) Azolla.
(¢) Riccia.

(d) Marchantia.
esTeuheuemeudMI6T 618 H6oT 2 L VI6T Ye0SBTS
g l_(Qullflenw Qarevsr(hemengy ?
(31) 61.Cxmemev.
(=) yGerevr.

(1) AsenSlwn.

() wrjsemashu.

6. Spirulinaisa:

(a) Prokaryote.
(b) Eukaryote.
(c) Protozoan.

(d) Metazoan.
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EVED LI(HEO 63T 6(h
(31) yGrrGaflwm .
(=) yCasAwm .

(®) yGrm_CLnGsmeues.

() Quil_L_nGsmeusdt.

The majority of biogas is :
(a) Methane.
(b) Ethane.
(c) Alkane.

(c) Mercaptane.

2 Uiy eurmujelled srewTlLI(Reug) :

(o) B5Cser.
(=) m5Cae0.
(&) sieuCaen.

() QuisriGLetr.

AFN-1050



mailto:�z@u�.
mailto:Dz@u�.
mailto:A�@P�.
mailto:�@h�.

8.  The order of nucleotide presented in sequence is
(a) DNA sequence.
(b) Molecular weight.
(c) Molecular mass.
(d) Density.

BluyseflCurenL (sl cuflensemrw Qgrgeflwns
eipsLLBeug.
(1) 19.61651.6]. F&Eu6BT6N.
(S)) ePeVSTam) 6TENL.
(@) epoéomp L.
(M) SILT&S.
9. Genebank is a database of
(a) Gene sequence.
(b) Genetic sequence.

(¢) Protein structure.

(d) X-ray data.
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10.

wruay| eukidl QseienLW Ss56160 CFTELIL pGLD.
(31) wrue auflenss SaHeuev.

() wrwed euflens.

(8) yrss sLevwliy.

(Fr) 618610 &FIT eNleumid.

The international initiative dealing with sequencing

human genes is called
(a) Human genonome project.
(b) Human protein project.
(¢) Human welfare project.

(d) Human health project.
wesflgeflen wrLem auflewssenst et 2 eogerredlw
puHF ———— 9 G.
(1) wesflg 25Cesmd LiTTGlggsL.
(1) wefls yrs yrrsl.
(®) wesflg Cubur @G LrmblmsL..

(/+) werflg mev L& .
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Fill up the blanks (10x1=10)

11.

12.

13.

14.

15.

Non coding regions of a gene is known as

wrugy Osr@duiled @GHWLLULIE U@
————— ereoru(HLD.

Tumour inducing plasmid in called as —— plasmid.
UDMI&SL1lq 2 ewLns@Gw Wemmevbl() ————
eTesTLILI(DILD.

PCR uses the DNA polymerase obtained from ————.
PCR-6v vwetu(@&sLu@wb igq.61601.67. LTeSoCren

QB —————— 60 QHEH CupLILILL §).

Name an alga used to prepare biomanure

2 Wiy 2 7 gruflssuuweTu®w yeosrelles GlLwT
Single cell protein is also consumed as

gesfle Claed g ————— gy sab 2 L GlsmemerL-
U@
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16.

17.

18.

19.

The fungus widely used in baking industry is

S wener Cgnfledev Gluflgns LweTLRD Ly Ehens

For the cultivation of greens the water is recycled from

Seor euemssem LUAfl Cu@dbLUTe) D ———— -

S Bhg &pnd Cewwiul L BF uwer uGEHDG.

In sewage treatment mainly — microbes are

involved.

asfley B a&sdlafliudles ———— miesuram|ulljaser
W&IHW ukiE eudlsdlesment.

The advent of DNA sequencing lead to the formation of

anew filed called
Ig..6T607.6]. aUflen&FS HHaumEL ST Blud (Pevm
set(h Wigsasliul L et ———— eteorm LHlw

SN 2 6T NSESLILILL G
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20.

21.

22.

23.

24.

In sequence research, mainly ———— are involved.

wruey euflenss Soae HrroFfHuler ————

pw et (D SlesTm 68T
Part B (5 x 8=40)

Answer any five of the following.
Brief on the scope of biotechnology.

2 uly B LeNWEN 63T BLOLISSFHETTEMLOSHEN 6T S )5,

Brief on the characteristic components of cloning

vectors.

&Cemrevfii QleusLaerflesr LieswTL Bemer eXl6ns @s.

Write notes on the uses of biomanure.

2 uly 2 yrusefles LwesTuTOSemem LD 6T(LPSIS.

Write short notes on vaccines.

Crmiiss LY WwMmbSIHET UHH 611EIs.
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25.

26.

27.

28.

29.

Brief on the nutritional value of single cell protein

seoflaOlger Lrasdlen 2 ewra & SpLillene gnmis.

Write note on sewage treatment.

sifley By asdlafluy @hiss GHuY aers.

What is sequence analysis ?

wruey| euflens eleur g rmi&s stesTmmeL 6TevTesT ?

Write note on protein information resources.

Hrs elleur Sysmrmgsenst UnM GOILL auenrs.
Part C (2 x 20 = 40)

Answer all questions.

(a) Write an essay on rDNA technology.

(1) rDNA-Gsmfleo mil U &N sL_(DenT euenrs.

Or

11 AFN-1050




(b)

(=)

30 (a)

(31

(b)

(=)

Elaborate various mass cultivation and uses of

biofertilizers.
2 Wre rriseaflesr LeVCoaumy GUE@BSSHDL WLHMID

vweLn_ (B (wewm GNSs efeulfl.

Write a detailed account on fermentation

technology.

CQrrdsse CQarfler L UD GNS55 ailfleumenr

SL_(H6OT U TS.

Or

Elaborate the components of biogas production.

2 ulflwev efleumujellen LGLILIMi6 ClFWIs.

skokok
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